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: In the following pie charts the percentage of employees of a company working in 8 different countries
has been given. Study these pie-charts carefully to answer the questions. FTTeTRad UTg =me | 8 fafsr= qsm
H ShTIT Ueh 301 oh ShHEITIAT ohT STRT T TRIT 21 ST oh 3T o o Tofq 3 UTE-<ITE shl SATeieh 3L

Total number of employees = 86000 Number of male employees = 56000
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What is the ratio between male employees working in the country I and country II respectively?

=T 1 S ST 11§ FRITT T FHATNAT o SiTel 3hT STUT SHHET: TR 22
(aA)3:4(b)5:4(c)5:3(d)3:2(e)2:3




What 1s the ratio between the number of male employees and female employees in

country I1? 33T 11 H T&% SHHTRAT TR HIEAT SHHATRT shl GEAT o sfier sl AT o1 &7
(a) 70 : 53 (b) 70 : 31 (¢) 70 : 59 (d) 53 : 70 (e) None of these




What is the approximate average number of male employees in countries I, IT and III ?
I, 1 3R I11 3301 H T89 SHHSTIET hl AT T ST foha 82
(a) 9670 (b) 6970 (c) 6907 (d) 6977 (e) None of these




What 1s the average number of female employees in the countries IV and VII?

IV 3R VII <30 § Afeett shf=rfe st ited g ferdt 22
(a) 1370 (b) 1070 (¢) 1570 (d) 1470 (e) None of these




By what per cent is the total number of employees in countries V, VI and VII more than the number of
male employees working in the countries II, IIT and IV? V, VI 3R VII <0 | HHATAT 6l i e 11, 111
S 1V 327 3 orieer o i o6 whe & e i o &2
(a) 50.2% (b) 53.6% (c) 55% (d) 48% (e) 499

Yo

Total number of employees = 86000 Number of male employees = 56000




Percentage prwd by six companies during 2010 and 2011.
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2010 3R 2011 &% SR T HUAT FRT A ATH T Jfr9ral
Profit = Income — Expenditure ((TTH = AT — YY)

% profit = profit/ expenditure x100 (% TH =TH / AT x 100)
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(.26 :- If the income of company M in the year 2011 was Rs. 45 lakhs . What was its

expenditure in that vear in lakhs)
5%332011 $cr3ﬁ aﬁ(amcls ARG U | 39 94 391 Y fdbd-T Y172 (ARd H)
(A)28.125 (B)38225  (C)31.125  (D)32.125 (E)None of these
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Q.27 :- If the Expendlture incurred by company O in the year 2010 was Rs. 38 lakh, what

s its income in that year? (in lakh)
trlg-{aﬁzom%rav'ﬁ nmam:r“a 38 TRA, 3T IV TP 3T 371 17 (ARI H)
(A) 56.9 (B)52.49 (€)38.9 (D)S1.19 (E)None of these
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.28 :- If the total expenditure of company N and O together in the year 2011 was Rs. 56
lakh. What was the total income of these two companies in that year? o ,
ﬂ%a%yzoﬂ %Eb‘u‘:ﬂ N 3R O $dl g Uh 1Y . 56 ARG | 3T I8 3 GIHI HUfd] bl
A A fbd-! di?

(A)110lakhs (B)125lakhs  (C)10Slakhs (D)CND (E)None of these
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.29:- If the expenditure of company Q in the years 2010 and 2011 are equal , what was the
atio of its income in the year 2010 to that in 2011 ?
m% 2010 3R 2011 H HUT Q BT o0 IR &, dl a9 2010 T IHDHT 34T HT2011 §

S{UId [T UT?
(A)34:37 (B)3:5 (C)35:36 (D)37:41 (E)None of these
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Q.30 :- Income of company P in the year 2011 was Rs 42.5 lakhs , what was the amount of

profit earned ? .
Errquoﬂ 5$u=ﬂ P ] M 42.5 ARG 39Y AT, 3iford T1H T T o e

(A)16.5lakhs (B)15.5lakhs (C)16.25lakhs (D)14.25lakhs (E)None of these
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